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403 KX EHHI S 20| & 444,000 382,800 61,200
01 XFXISHRIXH2 2 & 444,000 382,800 61,200
OYFAAS LT 400,000
(0N Ol 2 S AHSHI X & 44,000
StE MR ANIR 490,000 330,000 160,000
403 Xt X SRS XH2 0] & 490,000 330,000 160,000
01 MXISHH =S X 490,000 330,000 160,000
(% BAASHX & 150,000
QI &MY S & X & 340,000
YHESHSSLN AL ET 6,000 5,000 1,000
201 L2 Y| 2,000 2,000 0
01 At 22|t 2,000 2,000 0
mETES=Y] 2,000
OYFSBSHSVAN2 RS 2,000
202 018 4,000 3,000 1,000
01 = LH 01 bl 4,000 3,000 1,000
OYHSENSSLZT0Y) 4,000
YFMNSHSREHH 7S 19,500 17,550 1,950
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